(-]
a,b,c>1 F abc =25’ FHEP

2 2 2 2 2 2 E
log,(b* + 3bc + ¢*) + log,(c* + 3ca + a*) + log.(a* + 3ab + b*) >

[%32%]:
ONEES EEE
log,(b? + 3bc + ¢?) + log,(c* + 3ca + a?) + log.(a? + 3ab + b?)
> log,5bc + log,5ca + log.5ab

= log, <E> + log, <E> + log (E)
a b ‘\c
= (3log,5—1) + (3log,5—1) + (3log,5—1)
= 3(log,5+log,5+log.5) — 3
1 1 1
=3 (log5a * logsb * log5c) -3

(i) d & » 4%
PR
logsa logsb logsc

(logsa+logsb+logsc) ( ) >(1+1+1)?%=9

1 1 1
>
(logsabe) (logsa * logsb * logsc> =9

F¥]1% abc =25 %14 logsabc = 2
HA T W
1 1 1
logsa * logsb * logsc
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e () 4o (i) > AP E I

log,(b? + 3bc + ¢?) + log,(c* + 3ca + a?) + log.(a? + 3ab + b?)

>3( rt 1 )—3
— \logsa logsb logsc

9 21

27°77
FPERXFL R iERZa=b=c

>3 X

[r3#42]
FH ket kg 109% (109 +1) X (109+2) X .. X (109+K) + 13 =

[$3i*%]: K=3-

% k=0109+1=110 % &% 2% 3 o

¥ k=12 2> B3% 109% (109 + 1) X (109 + 2) X ... X (109 + k) + 1 =a? » B]
109% (109 + 1) X (109 +2) X ..X (109 +k) =a?—-1=(a+ 1)(a—1) -

F]15 1094- 111 B # %> 110=2Xx5%x11 -

Hru(a+D)(a- DT FEAfEE FF- B2 alfratl 2z kFH > 2
FREATEY - B2 REHFSABIKSA Bnlchagk 4 %!

#F k=3pF>109x110x111x112+1=(1102-1)x (1112 -1) +1 =

110% x 1112 — (1192 + 110%) + 2

% 1092 + 110% = (110 —109)? +2x 109 x 110 =1+ 2 X 109 x 110
#11109 x 110 x 111 x 112 +1 = 110% x 1112 — (1192 + 110?) + 2 =

1102 x 1112 - (1+2x109x110) +2 = 1102 x 1112 -2 x 109 x 110 + 1 =
(109 x 110 — 1)?

#10109 X 110 x 111 x 112 + 18 % 2 T 3 K -

12



